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1.Assembly line 00 OO OO A: How many workers are on assembly
line?B: Thirtyninetotal AD D OO OO OOODOBO OO 390
[1 2.Bar code 1 [J [J A: Bar code is so popular these days.B: | know.
Walt-Mart wont be able to do business without bar code. ALl [ [
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OO000000 3.Capital asset [ U1 [ I [ A: What is capital
asset[] B: Any item which depreciates over time. ALl U1 O 00 O 00 [
OJO0O0OBOODOOOOO0O0OO0OO0O0OODOODOOONOA4.Cost
reduction O 00 O A: We made a lot of efforts on the cost
reduction.B: Any realized savings”A O 0 0D 00 oo odd
OOBOODOOOOOOOOOS Innovations O O O OA:Is
there any way to encourage innovations on the shop floor?B: Yes.
We have incentive plans for innovations AL O O O O OO0 dd
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